
SAP ABAP table LDLBC {Takts/no. of ind. capacities per line segment line balance}

LDLBC

MANDT [CLNT (3)]

LNID [NUMC (8)]

LNSID [NUMC (8)]

ZAEHL [NUMC (8)]

LBVER [NUMC (4)]

LDCNT [NUMC (2)]

KAPAR [CHAR (3)]

CRID

MANDT [CLNT (3)]

OBJTY [CHAR (2)]

OBJID [NUMC (8)]

 LDLBC-LNID = CRID-OBJID 
0..N

1
 LDLBC-LNSID = CRID-OBJID 0..N

1

LDLBH

MANDT [CLNT (3)]

LNID [NUMC (8)]

LBVER [NUMC (4)]

 LDLBC-LBVER = LDLBH-LBVER 
0..N1

T000

MANDT [CLNT (3)]

 LDLBC-MANDT = T000-MANDT 

0..N

1

TC26

MANDT [CLNT (3)]

KAPAR [CHAR (3)]

 LDLBC-KAPAR = TC26-KAPAR 

0..N

0..N


